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E=tanse 5= 887, side 2= 13 and side c= 20
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Exzmple2* [\o L>. ZZQ 32"212 "
Find 2ll the missing dimensions of triangle, ABC, given that angle A = 39°, side = 20 and side c= 15

A ="+ =2 bewsA
ot - SEZOSTIST 22045 cos 55°
LfUU*'Z’LS"Looo oS 3°
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le 3* :
Find all the missing dimensions of triangle, ABC, L&: g(o_'gﬁf
fwen that side a= 30, side b = 20 and side c= 15, L= Z(l :?\R-Po
4
Sy & ghas Lhe-cosh
Qﬁ“ﬁf+5 ~1-0-15 wsh
AV =HIV+2E —00-coS,
& 3=

2157 ~aovcosh S

*Important: The Law of Sines will never produce an obtuse angle. If an angle mightbe obtuse, never use
the Law of Sines to find it.

=15

a=230

Areaof a T-riangle B

a
You can find the area of any triangle given .
at least three pieces of information... ' " C
(@ 1. SAS
1 . 1 .
: =-acsindB =-absinC
2 ‘ 2 ’

A Area =~ bc si
Ex) Gwenj___’Z;Sj a =20, c = 18... find the area of the A
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2. SSS “"Hevon's Fornanaoy
Adra=sG-aG-Di-0 ST HE of Yhe Povinsder

akb+c
4

Ex) Givena =6,b=8,c = 12...find the area of the A

A= (R (12— W3- 7 )1R-12)
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Day 5 Homework
Law of Cosines and Area

Solve each triangle. Round your answers to the nearest tenth.

1) 2)
» L= U AL S LA= LY
17mi_/— / LLC= T ein[\ e ?O
11 mi - 0 N ¥ — ‘LO A
Lo, LA~ IDY Bs = . b~
3) - °
A=\ £ LA= 2o
w7 LRI ' o= U2
& 21in 4 =Yy y -4 c= S
5) A ? 6)
c 281in 4+ LA= s$0° e 2 A= |IN°
14M R =AN Ai =1R° .
5 Le=159° - ¢ b= I¥Ymi @®
n 8) | ‘
C___25km___ g L.A"_'gq’o ' ce_13mi__B . L.}\':-lq'o
27 km 28 km [/6 = (.0 \° 4 L C’: ’LLD
N e =723 mi
4 LC=(SP b

9)b 28 km, g 18km ¢=21km

LA= 4 (R=14" (o= YR

Find the area of each triangle to the nearest tenth.
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“10) ¢= 30cm b= 17cm a=18cm

LB'= so*rhLesly

sn 20,5 n° @

P sm H.

(A

Scanned by CamScanner



